( 14 8 )

( 14 8 )
15 52 53
4% 8 pro= = x582=34kN) pr= = x 428=25(kN)
47 2 pE = 34x (1+0.41)=48(kN) pE = 25x (1+0.41)=35(kN)
52 16
52 9 M, M,
53 2 15
53 11 <t 4=085(\N/ 3 <t 4=15x 0.85=128(N/ )
» Hf=612.5kN
59 2 pE =  x 330=03(kN) pes = x 270=T6(N)
59 1 p. 15x 768 115(N) P, 15x 1028 154(kN)
60 5 L=670( ) L=480( )
60 7 p = 93kN) p = 76(kN)
60 8 = 03x 10° 31.8x 1Ux 670= 139N/ ) = 76x 10° 31.8x T x 480= 158N/ ?)
60 9 <t o=140N/ <t ,=15x 1.40=2.10N/
116 1 o a=79kN/ ) T a=93(kN/ ) p a=255kN/ ) T a=29.4(kN/ )
116 4 p a=1.5x 79=119(kN) p a=1.5x 255=38(kN)
116 1 T a=1.5x 93=140(kN) T a=1.5% 29.4=84(kN)
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